Simplification
Exercise 6A

Q1l

Answer :

Given expression:

=21-12+3x2

=21-4x2 [Performing division]
=21-8 [Performing multiplication]
=13 [Performing subtraction]
Q2

Answer :

Given expression:
=16+8+4-2x3

=16+2-2x3 [Performing division]
=16+2-6 [Performing multiplication]
=18-6 [Performing addition]
=12 [Performing subtraction]
Q3

Answer:

Given expression:

=13-(12-6+3)
=13-(12-2) [Performing division]
=13-10=3 [Performing subtraction]
Q4
Answer:

Given EXDFESSiOI"I:
=19-[4+{16- (12 -2)}]

=19-[4+{16-10}] [Removing parentheses]
=10-[4=4] [Removing braces]
=10-10 [Removing square brackets]
=0

Q5

Answer:

Given expression:
=36-[18-{14-(15-4+=2=x2)}]

=36-[18-{14-(15-2=2)}] [Performing division]
=36-[18-{14-(15-4)}] [Performing mwltiplication]
=36-[18-{14-11}] [Removing parentheses]
=36-[18-3] [Removing braces]
=36-15 [Removing square brackets]

=21



Q6

Answer :

Given expression:

=27-[8-{16-(5- 4— 1)}

—27-[18-{16 - (5-3)}]
—27-[18- {16 - 2}]

[Removing bar]

=27-[18 - 14] |Removing braces|
—97 -4 [Removing square brackets|
=23
Q7
Answer :
Given expression:
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Q8
Answer :
Given expression:
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Q9
Answer :

The given expression
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Q10

Answer :
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Q11

Answer :

Given expression:
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Q12
Answer :
Given expression:
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(Removing parentheses)

(Removing "+ 7)
(Removing braces)
(Simplifying)

(Removing parentheses)

(Removing braces)

(Removing square bra.ckets)

(Remuvﬁ:g T ’)

(Removing parentheses)

(Removing braces)

(Remov'mg square bra.ckets)



Q13

Answer :

Given expression:
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)

S (E( - )

=4 4 [% - {1715 x %}] (Removing parentheses)
=4 4 [% — %] (Removing braces)
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Q14

Answer :

Given expression:
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Q15

Answer :

Given expression:
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Simplification
Exercise 6B

Q1

Answer:

(c)18

Explanation:
=8+4+2x5
=8+ 2x5
=8+ 10 =18

Q2

Answer:

(b)12

Explanation:
=54 +30f6+9
=54 +(3 x6)+9
=54+18+9
=3+9=12

Q3

Answer:

(b)3

Explanation:
=13-(12-6 + 3)

=13-(12-2)
=13-10=3

Q4



Answer:

(@a)?

Explanation:

=1001 + 11 of 13
1001 + (11 x13)
1001 + 143 =7

Q5

Answer:
(b) 121
Explanation:

Given expression:
=133+28 -T7-8=2

=133 +4-8 %2 [Performing division]
=133 +4-16 [Performing multiplication]
=137 -16 [Performing addition]
=121 [Performing subtraction]

Q6

Answer :

(a) 3636

Explanation:

Given expression:

=3640-14 -7 = 2

=3640-2 x2 [Performing division]
=3640 -4 [Performing multiplication]
= 3636 [Performing subtraction]

Q7

Answer :
(b) 920
Explanation:

Given expression:
=100 x 10 — 100 + 2000 - 100

=100 = 10 — 100 + 20 [Performing division]
=1000 — 100 + 20 [Performing multiplication]
=1020 —100 [Performing addition]
=920 [Performing subtraction]

Q8

Answer :

(b) 23

Explanation:

Given expressicn:
=27 —[8—{16 —(5— 4—1}]]

=27 — 8 —{16 — (5 —3)}] (Removing bar)

=27 — [18 — {16 — 2}] (Removing parentheses)
=27 —[18 — 14] (Removing braces)

=27 — 4 (Remaoving square brackets)
=23

Q9



Answer :

(a) 29
Explanation:
Given expression:

32 —[48 < {36 — (27 — T)}]
=32 — [48 <+ {36 —20}]

=32 — [48 = 16]

=32 -3

=29

Q10

Answer:

(3a)6

Explanation:

Given expression:

=8 —[28 = {34 — (36 — 18 = 9 x B)}]
=8 —[28+ {34 — (36 — 2 x B)}]

=8 —[28 = {34 — (36 — 16)]]

=8 — [28 = {34 — 20}]

=8 — [28 = 14]

=8—-2=6

32 —[48 = {36 — (27 — 16 —0))

(Remaving bar)
(Removing parentheses)
(Remaving braces)
(Removing square brackets)

[Performing division]
[Performing multiplication]

[Remaoving parentheses)
[Removing braces]
[Removing square brackets]
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